| DAY -5 '

L
Sequence and Series TUTORIAL
1. Ttthe sum of first 10 terms of an anthmetic progression with @ -1 by 1
first term p and common difference ¢, 15 4 times the sum of
the firsi 5 terms, then what is the ratiop : ¢ 7 (© ! (d) 1
(a) 1:2 (b) 1:4 8 4
(c) 2:1 _fd‘l 4_1] _ S 8  The equation (a® +b*) x> = 2b(a+c)x + (b + ¢*) = 0 has
2 Oneofthe roots ofa quadratic equation with real coefficients equal roots, Which one of the following is correct about
a,b,andc?
s (2-3) . Which of the following implications is/are true? {a) Theyarein AP
{b) Theyare inGP
o - . {¢) Theyare inLIP
1. The second root of the equation will be G2 (d) Theyare neither in AP, nor in GP nor in HP | ,
3 Thesequation hes wo real ook 9 Ifp™ term of an AP s q, and its g™ term is p, then what is
3. Theequation is 13x% - dx+1=0, the common difference ?
Which of the above is/are correct 7 (@ -1 (b) 0
{a) 1and2only (b) 3only (c) 2 (d 1
(¢) 2and3only (d) 1,2and3 10, Tfa, b, carein geometric progression and a, 2b, 3carein
3 What is the sum of the first 50 terms of the series arithmetic progression, then what is the common ratio r
(T3 +(3=5)+(53=T)+ .7 such that = =17
(a) L71650 (b) 26600 ! i
{c) 26,650 (d) 26500 (a) 3 (b) 3
e 2 oy
4 HWx=l+=+|=| +|=| +.. . where|v|= 2, what 15 1] 1 |
2 (2] (2] v ’ © - @ <
4 8
o b
cqual o 1. Foran APwith first term uand common difference v, the
@ X! b XL p term is 15 uv more than the g term. Which one of the
X 2x following is correct 7
I —2 It ] (a) p=qtIsv (b) p=g+tl5u
(c) (d) 5 {c) p=q+ldv (d) p=q+14u
X x . " . . .
. } . 12, Ifa, band ¢ are three positive ber: thmetic
5. What is the product of first 2n + 1 terms of a geometric & anfeare TDL poSHVE TIUmLSTs m an anthmetic
. progression, then:
progression 7 p o b2 0 ba+c
{a) The(n+ Tith power of the nth term of the GP a) ac- ) T
(b) The(2n+ 1)th power of the nth term of the GP (¢) ab+he <Jac (d) ab+hbe=>2ac
{c) The(2n+ 1)th power of the (n + 1)th term of the GP |
id)  Thenth power ofthe (n + 1)th terms of the GP 13 If|x|< =, what is the value of
6. The following question consist of two statements, one , . 3
labelled as the 'Assertion { A) and the other as 'Reason (RY' Lon | X J_I__ nin-+ Hﬂ X J e
You are to examine these two statements carefully and select tl-x] | 2 I-x
the answer,
Assertion (A) : 1/8, |08”2 @ —» exponent should be to the @ [Il _; ]I" ) (1o
hase, log * are in GP but not in AP, Tk
_n i 1 n
Reason: (R) : x, v, zareinAPaswellasin GP il x = y=z. {c) [I 2-’"] (d) _]
{a} Both Aand R are individually true and R is the correct I-x \I-x
explanation of A 4. The sum ofthe first (2p + 1} terms ofan APis {(p+ 1).(2p
(b) Both A and R are individually true but R 15 not the + 1)}, Which one of the following mferences can be
correct explanation A drawn ?
(¢} Ais true but R is false (a) The(p+1)"term of the APis(2p+1)
(d)y Ais false but B 15 true (b) The(2p+ 1) term of the APis(2p+ 1)
7 Ifx+1,4x+1 and 8x + | arein geometric progression, (¢) The(2p+ 11;}':h lerm Cfrthfﬂf'_‘ is(p+1)
then what is the non-trivial value of x ? (d) The(p+1)"term ofthe AP1s(p+1)
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16,

14,

19,

21,

23,

a b carem GPwith I <a<b-<n,andn> 1 isan integer. log,
n, log, n, log, n form a sequence. This sequence 15 which
one of the following ?

{a) Harmonic progression (b)  Arithmetic progression
(¢} Geometric progression (d) None of these

|
/ s 3 “the se l-=t—===+..17
What 15 the sum of the series 5T37%
l 3
(a) 5 (h) 4
3 NE!
(c) > (d) 3

If bl._ hz, ‘i::3 are three consecutive terms of an arithmetic
progression with commeon difference d = 0, then what is the

value of d for which h_;'_J =bsby +byd+27

|

(a) 3

) 1 (dy 2 . i
If1, %, y, 2, 16 are in geometric progression, then what 1s the
valueofx+y+z?

a) 8 by 12

c) M4 d) 16

[fthe nth term of an arithmetic progression is 3n+ 7, then
what 1s the sum of its first 50 terms?

(a) 3925 (b) 4100

{c) 4173 (d) 8200 ) )
If, for positive real numbers x, v, z, the numbers x +v, 2yand
v+ z are in harmonic progression, then which one of the
following is correct?

{a) x, vy, zarcm geometric progression

(b} x, v, zaren anthmetic progression

{¢) x, ¥ zare in harmonic progression

{d) None of the above

by 0

What 15 the sum of the series

Lo 13 135 o
§ 816 81624 h
2 _
{a) B (b) 23
3 |
{c) “‘fT (d) N

What is the geometric mean of the ratio of corresponding

terms of two series where (1) and (i, are geometric means of

the two series?

{a) log El ~log G2
G

Gy

(b) logG, +logG,

(c) (d) GG,

If the points with the coordinates (a, ma), {b, (m + 1) b},
{e, (m=+2) ¢} are collinear, then which one of the following,
15 correct?

{a) a,b,carein arithmetic progression for all m

4

26

27,

28,

30

3.

{b) a, b, carein geometric progression for all m

{c) a,b,careinharmonic progression for all m

{d) a,b, careinarithmetic progression only form = |
The following guestion consist of two statements, one
labelled as the Assertion (A)" and the other ax ‘Reason
(RI" You are to examine these two statements carefully
and select the answer.

Assertion (A):03+0.03+0.003+ = %

Reason (R) : Foreach (+)ve integer n, let a =at nd, aand

d are real numbers. Then,a, + ... Fa = %[Za i+ 1)d).

ia) Both A and R are individually true and Ris the correct
explanation of A

(b) Doth A and R are individually true but R is not the
correct explanation of A

ie) Ais true but Ras false

id) Ais false but R istrue

Which one of the following is correct 7 If the positive

nurmbers a, b, ¢, dare in AP, then bed, eda, dab, abe

{a) arein AP

ib) arein GP

ic) arein HP

{d) are in none of the above progressions

What is the value of 913 9119 V27 o 7

fa) 9 (by 3

ey 9l id) 1

Ifa, b, c, dare in harmonical progression such that a = d,

then which one of the following is correct?

fa) a+c=b+d by a+te=b+d

ic) ac=hd id) ab=-cd

Alier paying 30 out of 40 installments of'a debt of Rs, 3600,

one third of the debt is unpaid. [the installments are forming

an arithmetic series, then what is the first instalment?

a) Rs30 ib) Rs3l

(¢) Rsl105 (d) Rs110

The product of first nine terms of a GP is, in general, equal to
which one of the following?

{a) The 9th power of the 4th term

ib)  The dth power of the 9th term

(c) The 5th power of the 9th term

(d) The%h power ofthe Sthterm

The difference between the nth term and (n— 1)th term ofa
sequence 18 independent of n. Then the sequence follows
which one of the following?

(a) AP by GP
c) P id) None of these
Which one of the following 1s correct?
If L+——]—+—, thena, b, carein
b-c b-a a ¢
a) AP by HP
i) GP id) None of these |

What is the 15" term of the series 3, 7, 13,21, 31,43, .2
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3

39

33

M

3.

i

38

41.

@) 205 by 225

(c) 238 (dy 241

If the nth term of an arithmetic progression is 2n — |, then
what 15 the sum upto » terms?

(a) n? (h) nt-1

(€) nitl (d) %-’F(!H 1)

If the three observations are 3, — 6 and —6, then what is their
harmonic mean'?
(@ 0 (b) =
c) -1/2 dy -3
» o n(n+l)
Sum of first # natural numbers 13 grven by . What

15 the geometric mean of the series 1,2, 4 8, 2™

) 2" ®) 3

I:C,'I 2 142 {d:l zu—l

Ifthe number of'terms of an AP 15 (20 + 1), then what 1s the
ratio of the sum of the odd terms to the sum of even terms?

n n
@ (b) il
n+l n+l
() —- ) =

If the sum of “n" terms of an arithmetic progression is
n® ~2n, then what is the n term?

(a) 3n-n (b) 2n-3

c) 2m+3 (d) 2n-3

If g, 2a+ 2, 3a+ 3 are in GP, then what is the fourth term of
the GP?

(a) —133 (b) 135
(c) =27 (d) 27
What 15 sum to the 100 terms of the series
9+99+999+ 7
10, 10,
(a) F(m 1) =100 (b S (10 1)-100
':-'} [ Wi
. _ — 107" =1
© 1000100°-1) @ 75l ]

Ifthe AM and GM of two numbers are 5 and 4 respectively,

then what 15 the HM of those numbers?

16
by —

fa)

3| s = | n

c)

The harmonic mean of two numbers is 21,610 one of the
numbers is 27, then what is the other numbet?

fa} 162 (b} 173

{c) 18 (dy 20

Ifthe sum of the first two terms and the sum of the first four
terms of a geometric progression with positive commaon ratio
are & and 80 respectively, then what 15 the 6th term?

(d) 9

(a) HE
e} 486

(b) 43
(d) 1458

43.

45,

46,

47,

449,

al.

53,

Ifx> 1 and log,x, log,x, log 16 are in GP, then what is x
cqual to?

a 9 (b) 8

(c) 4 (dy 2

In a geometric progression with first term a and commaon
ratio r, what 15 the arithmetic mean of first five terms!?

(@) a+2r (b) ar’

© alP-1)/(r=1 () a(r-1)/[5(r-1)]
IF(I+3+5+  +p)H(l+3+5+ . +q)
=(1+3+5+.+9)

where each sel of parentheses contains the sum of
consecutive odd integers as shown, what is the smallest
possible value of (p + g + r) where p = 67

(@) 12 (b) 21

c) 45 idy

Ifal, .I.-‘j-, 2 arein AP, theny+z, z+x x+parein
(a) AP by HP

c) GP (d) None of these

Ifx, 2v + 2, 3x+ 3 are the first three terms ofa GP then what
15 1ts fourth term?
{a) =272
ey =332

(b) 2772
(d) 332

[ N
Which term of the sequence 20, I‘}‘4. I82,1?4,...1s the

first negative term?

fa) 2Tth (b} 28th

{c) 29th (d) Nosuch term exists

In an AP, the m'™ term 1/n and n'h term is 1/m. What is its

()™ term?

@) 1imn) (b) min

ic) nim (d) 1

The 539th term of an AP is 449 and the 449th term is 39,

Which term 15 equal to 0 (zero)?

a) 501%term (b 502 erm

{c) 5087 term {d) 509" term

Ifthe AM and HM of two numbers are 27 and 12 respectively,

then what is their GM equal to?

(a) 12 (b) 18

) 4 d 77

What is the sum of all natural numbers between 200 and 400

which are divisible by 7"

(a) 6729

{c) 8729

Leta, b, cbein AR

Consider the following statements:
1

1 lﬂ-”' : in AP
—— {—
- prand o areinAP.

(b) &712
id)y 9276

I | |
2 \'{J’_J+-\.l"(_?xﬁ.."'(_?+u{.;amfu'r_—u'ﬁ are in AP
Which of the statements given above is/are correct?
{a) 1only {b) 2 only
ic) Bothland2 id) Meither | nor2
If p times the pth term ofan AP is g times the gth term, then
what 1s the (p + g)th term equal 10?
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a) p+g (b) pg &4,  What is the sum of 3+_ﬁ+ﬁ Foene?
ic) 1 id) 0 RS
55, The geometric mean of three numbers was computed as 6. It o
_ - : V3 33
was subsequently found that, in this computation, a number fa) — h —
§ was wrongly read as 12, What 15 the correct geometric 2 2
o . B
mean? 243 o R
fa) 4 (b) 35 © = (d) 3
(c) 2%."1_3 {d) None of these 65, Which one of the following options is correct?
.2 LN 2 (I .r-l o - Y
56, Thearithmetic mean of twonumbers exceeds their geometric 1) 5]“;3” » 31 qﬂ'S 2 S0 ;’[] ‘_”'"]“_(TP
mean by 2 and the geometric mean exceeds their harmonic (b) cos” 30%, cos=45°, cos” 60° are in GP
mean by 1.6. What are the two numbers? ic) cot= 307, cot? 43", cot® 60° are in GP
(3) 164 (b) 81,9 (d) tan? 307, tan? 45°, tan? 60° are in GP
ic) 256,16 idy 625,25 66, What is the 10th common term between the series
57, Thesumofan infinite geometric progression is 6, [the sum 2+6+10+ and 1+ 6+11+...7
of the first two terms 1592, then what 15 the first term? (a) 180 ib) 18
ic) 194 id) 206
@y 1 by 52 67, Ifthe 10th term of 2 GP 159 and 4th term 15 4, then what 15 1ts
ic) 3oris? id) 9or3 Tthterm?
8. Ifthe AM and GM between two number are in the ratio m ;. ia) o by 14
then what is the ratio between the two numbers? ic) 2714 d) 5615
— 68. If logyy 2, logyy (27 = 1), logqy (27 + 3) are three
m+afmT —n® m+n consecutive terms of an AP, then which one of the following
(a) 5 (b) is correct?
m—lm” .rr2 m=n _ _
ia) x=0 by x=1
2 2 2 2 {ﬂ] T—Jﬂgzs [d} K—IOE:;E
© mj _”ﬁ ) u 69, Ifn!,3 = (n!)and{n+ 1) are in GP, then the value of n will be
m-+n" m-+ :f:2 + mn
34 What is the geometric mean of'the data 2, 4, 8, 16,327 Eﬂ; ; EE: Tﬂ
a) 2 b) 4 o E
Li 3 '{m] 16 0. Wa, b, c.d e fare i AP, then (e = c)is equal to which one of
- _ ' _ _ the following?
60 Ifd, Band Carem APand b:c= 3 ;ﬁ , then what 15 the @ 2(c-a) (h) 2(d-c)
value of sin O € 2(-d) idy (d=c)

]
ia) |1 (h) ﬁ

| DAY - 5 Answer Key

© 3 (d) " Iy | 16 | (d| 31 | (b)| 46 [ (a| 61 | b
20 ey | 17 ey | 32 dy | 4T | fa) | 62 | ()
6l.  Ina GP of positive terms, any term is equal to one-third of 3o da) | 18 [ e | 33| (a) | 48 | (bh| 63 | (c)
the sum of next two terms. What 15 the common ratio of the sl vl alm|oe|dm] sl m
G IR E R T
@ J13+41 ‘h] V131 6 l@|2a|@|w6]e@]|s|m|e]|m
2 2 Tl | 2@ |37 ®m|52]@]67] @
NEE _ 8 [(b) | 23 [(e) | 38 |(a) | S3|(c)] 68 |(c)
© — (d 13 9 |qa | 24| ()| 30 |@| 5 |@]6]|@©
D Wl @|xs|e@|4o]lm]|s]eln]o
62, Which termofasenes —, ——, 1, 15= 1287 1 by | 26 | by | 41 | (c) | 56 | (a)
42 Rla@| 2w 2ol
(@) ';'“:J 'E’ ';’E AR EDED
(¢) It @ 1 AMEINMEMEIE
I 1 [ 51 (a) ] : 3 W |
6. If——+——=—+—thena, b, carein I QN EEIR RN LN
b-a b-¢ a ¢
ia) AP ihy GP
icy HP id) MNone of these

BY GANESH SIR www.maatutorial.com

raget MAA TUTORIAL PRESS COMPLEX INDORE 98269-10161


http://www.maatutorial.com/

